PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
9th August 2016, 03:00 PM
Topic:- General and Logical Knowledge

1)
Question Stimulus :-

Who was elected to the office of President as an independent candidate? / el TP TdA Iiear FEqH

ufa & ug & g g T A2

® Dr. Rajendra Prasad / S YToi& UG

* V.v.Giri/ a4t fif¥

® Sanjeeva Reddy / iG] @

® Dr. Zakir Hussain / 81 ST §'\ﬁ=r
Correct Answer :-V.v. Giri / d1.41. fifi¥
2)
Question Stimulus :-

The voting age in general elections was reduced from 21 years to 18 by the / 3TH g-Td H yagH &l 3M1Y 21 af 3
e 18 9 forad gRT 91 it -

o 72" Amendment / 7297 TRNYT

e 62" Amendment / 6297 TR

* 61° Amendment / 6197 RN

e 715t Amendment / 7197 HENYT
Correct Answer :-615 Amendment / 6197 TN
3)

Question Stimulus :-

A, B, C, D, E and F are members of a club. There are two married couples in the group. A
is the brother of D’s husband. C is the president of All India Working Women'’s
Association. F, a sitarist, is a bachelor. B’s wife is not a member of the club. Four of
them belong to the same family. B and F are colleagues in the same organization. /

A,B,C,D,E 3R F U% ¥07d & e &1 59 94g ¥ & faarfed s €1 A, D & ufa &1 41 81 C 3ifd

()



sf&ar afdr faua vaiReRm 3t sraaen 81 F, T RidRae®, $aRT 81 B 3t Uelt 39 o009 & 9o gl
g1 370 ¥ IR JIfH 0P 8 URaR & 98 €1 B 3R F, T & W6+ | Headl gl

Which of the following groups consist of the members of the same family? /3?3[' I B
Y Iqe ¥ Uo &) uRaR & dew @2

* ABED

e BCDE

* ADEF

* ACDE
Correct Answer :-ACDE
4)
Question Stimulus :-

Which one of these is a famous port on the western coast of India? / 3?'4?[ ¥ B9 9T URd & i3 ae ) Uh
RIS de37Te 82

® Nhavasheva / ~gTal Ridl

® Paradeep / URTGIY

® Tuticorin / ?ﬁﬂ"ﬁﬁ?

® Port Blair / UId SR
Correct Answer :-Nhavasheva / “gTdl 2idl
5)
Question Stimulus :-

Which of the following cities do not have a functional metro rail system in India? / HIRd A frafafae ‘x’l?ffﬁ' I

fraa Prafers A2 Yo vumelt e &2
® New Delhi/qgﬁv_vﬁ'
* Kolkata / BIeTpTdl

® Hyderabad / %?R'ITSTI'Z.'
® Bangalore / TR

Correct Answer :-Hyderabad /%ETIEITQ'

©)



6)
Question Stimulus :-

Who wrote the book “The Argumentative Indian”? | QHd® nfg &rmq;ﬁ%ha sfeg o= feret i
® PN Bhagwati / tﬂ"Ff Wrafd
® Amartya Sen/ GITIT{TI' G|
® Arvind Panagariya / 3Rfdg yArTRAr
® Raghuram Rajan / YYITH XTSI
Correct Answer :-Amartya Sen / 3/ A9
7)

Question Stimulus :-

In the following diagram, the circle represents college professor, the triangle stands for
surgical specialist and medical specialists are represented by the rectangle. / %

H, g Pias F WHIR B Ygd T 8, Bwivr gxifar § veufafrce vy o smifasm Rifvcre smaa
&R U {5 T €1

C represents / C U¥Jd &l %
e Medical Specialists / 3rfam RifvcTs
®* College Professors / HIce UTHATIH
e Surgical Specialists / IRIfPE® fauy
* Maedical and Surgical specialists / rifayH fafvc® 3R YRIfpE® R

(4)



Correct Answer :-Surgical Specialists / YdafIfpT® foRIvF

8)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 9§ fowe E[ﬁ't{
it 3T U Sy wd Frepul & i # w8 2

Statements: / ®YH:

Some ants are mosquitoes / $O difedl AR &

Some ants are spiders / $O difcal ABiSar §

Conclusions: / fasd:

I. Some mosquitoes are not spiders / I. $9 WW%‘HTT@%

II. Some mosquitoes are spiders / I1I. $ HX ﬂ'ﬂo‘%'m %
® Only conclusion | follows / %ﬁﬂ forepd 1 IECANGI %
® Only conclusion Il follows / W foree 1) Frodar %
® Both conclusion | and I foIIows/?ﬂTﬁ frp 1 3fiv 11 e %
® None of the conclusion | or Il follows / fosed 1 ar 11 ® '\ﬁ 3%% qﬁ Freddar %
Correct Answer :-None of the conclusion I or Il follows / Fpdr1arIId 9 aﬁ's,‘ :Iﬁ e %

9)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / ey ﬁ, tI'Ea'a' a tla & o= foft
TR A B Ja¢ g| 7 faeedt & I @tur e g~ et AW ug & a1y 3H ueR &1 e 3|

UTS:EDC:WVU:?
®* XwvV
® WXY
® SIM

® RPO

Correct Answer -xwv

(5)



10)
Question Stimulus :-

Which is India’s first city to have its own City Animal? / HIRd & DI 3 LU C| qB?ﬂ 91X SYAT "W Uy
ofvra fear 82

® Gaya/ 4T
e Ranchi/ I

® Patna/ YcHIl

® Guwahati/ Wl_a

Correct Answer :-Guwahati / T@rgrel

11)
Question Stimulus :-

How many times ‘E’ precedes the consonants in the word, 'UNPRECEDENTED’?

/'UNPRECEDENTED’ %5 § ‘E’ il aR =iwl & qd § R« 82
e 1
° 2
e 3
* 4
Correct Answer :-4

12)
Question Stimulus :-

Who holds the power of Judicial Review in India? / HIRd H =TRe Wl:ﬁ&ﬂ P DI T @l %?

® The Parliament / §9G
® The Supreme Court / Jdied =ATITT

® The Prime Minister / TeTTHAT

® The President / ?Tg‘Tﬁf

Correct Answer :-The Supreme Court / Halw ATIAY

(6)



13)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / d& fape ﬂﬁlﬁ,ﬁ GEZC| HiY
g T s S I 2 :

If I like candies, then I don’t like ice creams. I like ice creams. /WH‘@WW%H’[
TS TP TG - & | g SMFTHIT Wig &
e I like candies. / g3l Hfsal uug B
* I don't like chocolates. / 3l Tidae UHg el &1
e I don't like candies. /g3 Hf3al Wi & B
® None of the above / IR Elﬁ'g:l'é’f
Correct Answer :-I don't like candies. / 3 $&al Wwig 78! g
14)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe gﬁq
<l 3T U HuHY vd el & ar § 9E Bl

Statements: / ®YH:
All games are sports / T4l QA Ad-Pg &
All sports are races / I4t @ﬁ-?c{ s g
Conclusions: / fAp:
I. All races are games / I. 9} dis ©@a-%g &
II. All games are races / II. ¥l @ SIS &
® Only conclusion | follows / W forepd 1 IECNGI %
® Only conclusion Il follows / Had fsed 1| eadr %
® Both conclusion I and Il foIIows/E{Fﬁ ﬁwmf I Gﬁ? II FApad %
® None of the conclusion I or Il follows / Fpd a1z # 9 Tﬁ'&; Hﬁ RG] %
Correct Answer :-Only conclusion Il follows / BT frepd || FPear @

15)

Question Stimulus :-
(7)



Which of the following districts of Madhya Pradesh shares it borders with Uttar Pradesh and Chattisgarh? / &

oW & o forel & & @19 91 foran, STR e ok SxierTe & A1y 3ru=t HrHTSH BT ITSm BT 82
o Rewa/%ﬂT

® Anuppur / JUQR

® Singrauli/ R

* Shahdol / AIGSTA
Correct Answer :-Singrauli / RITRIeH
16)
Question Stimulus :-

Which of the following belongs to the same family as Mumbai, Kolkata and Cochin? / ECEE:] P9 A I ufvarR

¥ it 8 R fop gas, Sraear ik simE?
e Delhi / feeeht

® Kanpur / DIHYY
® Chennai / %ﬂ%
® Sholapur / YI.WITER

Correct Answer :-Chennai / I9%

17)
Question Stimulus :-
Directions: 5 persons are sitting in row. One of the two persons at the extreme ends is

intelligent and other one is fat. A fat person is sitting to the right of a weak person. A
tall person is to the left of the fat person. And the weak person is sitting between the

intelligent and fat person/ﬁ%ﬁ:sﬁwﬁﬁa%@?lwwa?ﬁmﬁﬁw
GISHTT 8 TUT GRT iel §1 TP Hiel Jfad U $HGR Afed & glfeq 3R 98T 31 TP AdT aafad Aver
T & 918 SR 937 §1 3R FHEIR Afed i o 7 @feq & &t & a1 3|
Fat person is sitting on whose left hand side?/ﬁma?arﬁauwnﬁawﬁraa%?

e Intelligent / gfsH™

* Fair /7RI

e Weak / FHSIR

(8)



e Tall /&aT
Correct Answer :-Tall /&@dT
18)

Question Stimulus :-

Panini wrote a book on grammar. Which book was it? / IO A STHRuT W) TP Y&ddh fort ot dg CACK: |
gI® A

® Ashtadhyayi / STt
® Meghadhootha / ﬁ'ﬂ@ﬁ
® Satapatha / HdUYy

® Dhanurveda / ‘arﬁ'c{

Correct Answer :-Ashtadhyayi / SFSTI

19)
Question Stimulus :-

Chandigarh is the capital of and . / GenTg 3R Gl
NENIETE

® Punjab and Jammu & Kashmir / GSITd 3R W—W
® Punjab and Uttaranchal / USITd 3R IR

® Punjab and Himachal Pradesh / YolTd \’rﬁ'\r %ﬂ'ﬁlﬁ U%QT
® Punjab and Haryana / USITdl 3R gharom

Correct Answer :-Punjab and Haryana / USITd 3T g

20)

Question Stimulus :-

The nodal agency of the Government of India to disseminate information to the print and electronic media on

government policies is: / HIRd TIPR B! AlSd o=, St TRBRI Aifeal | fiie eﬁ?gﬁﬂﬁ%tﬂﬁm Ca|
SR 3l §, 98 &:

® Press Information Bureau / U T FraTad

® Press Trust of India / Tﬂ'cgfa-l'l'st-'l-l'l'ﬂﬂ

©)



® United News of India / Ztard

® Press Council of India / HIRWT U Uf¥ug
Correct Answer :-Press Information Bureau / U T e
21)

Question Stimulus :-

Which among the following districts does not belong to the Bhopal police range? / e o o 3 S I

forar wurer gier & afve & =18 32
* Sehore / WX
* Rajgarh / IS
* Vidisha / fafe=m
® Chhindwara / f&gRT

Correct Answer :-Chhindwara / f5=gRT

22)
Question Stimulus :-

Which was the oldest university of the Indian subcontinent? / YR SUHETGIY &1 G99 e+ fayfasme™
DI AT A2

® Nalanda University / STCiGI fayfe=mea

® Taxila University / Sf&en faf3=meyg

® Benaras Hindu University / TR 1%'_‘5{ fayfeemea

e Magadh University / T¢I fagfa=mea
Correct Answer :-Taxila University / di&en fafy=maa
23)

Question Stimulus :-

CANCELLED

P+Q means P is the son of Q; P-Q means P is the wife of Q, PXxQ means P is brother of Q, P
<= Q means P is mother of Q and P=Q means P is sister of Q. / P+Q mw% P, Q WQET?;
P-QBTHAGIE P, QBI U, PX QPIAGAIE P, QPTHE R, P+ QBT HdAG ¢ P, Q I Hi g 3R
P=Q $T HAdd § P, Q P 98 &

(10)



What does UXW-V mean? / UXW-V &1 HIT Hddd %?
® Uisthe brother of W/ U, W BT ‘-I'Ig%
° UistheuncleofV/U,VWﬂl'_clT%
] UisnephewofV/U,Va'Tf‘J-I?'ﬁFIT%
® UisfatherofV/U, Viﬂﬁ?ﬂ%
Correct Answer :-Uisthe uncleofV/ U, VWW%
24)

Question Stimulus :-

At an Electronic Data processing unit, five out of the eight program sets P,Q,R,S,T,U,V and
W are to be operated daily. On any one day, except for the first day of a month, only three
of the program sets must be the ones that were operated on the previous day. The program
operating must also satisfy the following conditions: / U SAde® ST T SHI3 W,

P,Q,R,S,T,U,V 3R W 316 # | UM $TdwpHl &1 & &7 aam &1 fAuRa fara) n‘éﬁ%u‘g@rﬁ-—mﬁw
;@m%?ﬁq Fad o9 HriH I B TR S fUed foF Tame eI weTer mu Ay 26|t SR

1. If program P is to be operated on a day, V can’t be operated on that day. / 1. SR P
P H P fedt o gamn 8, 39 @9 v &) "aman J8f -1 [

2. If Q is to be operated on a day, T must be one pf.the programs to be operated after Q. /
2. 3R Q HTHH &I fbell o7 Iamar S, T 39 SR Hl # A TP g1 IR, Q & 9I¢ Il ST
Y

3. If Ris to be operated on a day, V must be one of the programs to be operated after R. /

3. 3R R &A%Y &1 fdll &9 Ie=1 8, v *rfwpdl A U 891 A1fee, it R & 91¢ Iamdr SHT Tiee |

4. The last program to be operated on any day must be either S or U. / 4. ifaw srfwpw v
felt &7 9@ 8, 98 S W U ® A T g AR

Which of the following could be set of programs to be operated on the first day of a

month? / A9 & Ugd &9 &9 a1 SRl TamT au farar 51 9dar 82
e V,QRT,S
e U,Q,STW
* T,UR\V,S
* QS,RV,U
Correct Answer :-T,U,R,V,S

25)

(11)



Question Stimulus :-

Find out the pair which is different from the other in the following question. / fauyd
a8 T 1A P &Y qTipal | e g

e QOil and lamp / a9 3R iuw

e Water and Ice / UH! 3R %

e Grandfather and Grandson / GQIql 3R Ui

* Father in law and son in law / IR GﬁTE{FHTq"
Correct Answer :-Oil and lamp / a4 3R s

26)

Question Stimulus :-

Which dam is being built on the Narmada river approx. 10 km from Punasa village in Khandwa district in
Western Madhya Pradesh? / 19 9T 9i¢f Tl 7} W §9101 &1 ¥aT1 8, ot oy v iw §f ear R &
YATIT TTd & T 10 fopedft gre

* Halali Dam / gl &Y

* Jobat Dam / SISC &Y

® Indira Sagar Dam / STeRT AR 91y

® Tawa Dam / dal 9

Correct Answer :-Indira Sagar Dam / §eRT IR §i¢Y

27)
Question Stimulus :-

What is the minimum age for a person to become the Prime Minister of India? / HIXd & YU a‘rﬁ%ﬁrq
<IATH S HIT §?

® 21 years /a'ﬁf
® 25 years /a'ﬁf
® 35 years /aﬂ’
® 30 vyears /a'ﬁf

Correct Answer :-25years / 9%

(12)



28)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / d& fawe ﬂﬁlﬁ,ﬁ GEZC] HiY
g T s FIIH 2 :

If it is liquid, then it is not solid. / Tf¢ 98 ¥ &, dY U8 319 781 &1

e Ifitis not liquid, then it is not solid / If¢ U8 a3a 718l 8, 9 98 319 78l &

e If it is solid, then it is not liquid / afe 98 314 8, A Ug axa -1l @

e If it is not solid, then it is not liquid / af¢ g 3T T &, A Tg TR 781 &

e Ifitis solid, then it is liquid / A Tg 3T}, M IgTRaA®
Correct Answer :-If it is solid, then it is not liquid / af¢ 9% 319 g, a1 98 TRa &l ¢
29)

Question Stimulus :-

Bina and Dhasaan are tributaries of which river / ST 3R g9 ____ & Jg® i g1
 Narmada / THaT
® Tapti /TGl
® Chambal / Idd

® Betwa/ a?ﬁT

Correct Answer :-Betwa / 9ddl

30)
Question Stimulus :-

was the captain of Indian Women’s Cricket team who was born in Madhya Pradesh. / ¥

WIRATg Afear fpdbe &9 swr O e o0 g waw & g uml
* Sandhya Agarwal / HHT 3T
® Anjum Chopra / 3IS[{ TNUST
e Mithali Raj / f¥raTel I/

® Shubangi Kulkarni / YUY Faamoff

(13)



Correct Answer :-Sandhya Agarwal / GHAT 34T

31)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / d& fawe gﬁﬂ'{,\_rﬁ' el EHiY
dRRTmWFsFAFIAAT:

“If my umbrella is up, then it is raining.”/ "Wﬁﬂww%,ﬁmﬁ?ﬁ%l”
e If it is raining, then my umbrella is up. /wmﬁwa‘ﬂ‘a%,a‘rﬁwmw%l”

e If my umbrella is not up, then it is not raining. /Gmﬁﬂquﬁ%,ﬁmﬂﬁﬁ

T/ 717

e If it is not raining, then my umbrella is not up. /waﬁmqﬁﬁr?ﬁ%a‘rﬁﬂmw
qﬁ%l”

®* None of these / Eﬁ'ﬁﬁaﬁﬁﬂé’f

Correct Answer :-If it is not raining, then my umbrella is not up. /WG’I‘F@TH‘@TE’R‘@%
o BRT BT HW 7L 717

32)
Question Stimulus :-

In 2008, who received the first copy of the e-passport in India? / 2008 'Ef, P URa | g-m’& 3 ggelt
gfer ure $i?

® Priyanka Chopra / P LED) ihTIST
® Pratibha Patil / UfaHT UTfed

e Sonia Gandhi / =T TR

® Sachin Tendulkar / = ﬁgﬁm

Correct Answer :-Pratibha Patil / UfdHT arfed

33)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe ﬂﬁt{
wil 3T T SUHT Td el & ar § e 21

Statements: / DYUY:

All huts are buildings / 94t sufdai sARA &

(14)



No building is a flat / $I$ SHRA Wie &l &
Conclusions: / e

I. No hutisaflat / I. ﬂﬂg@qmﬁfq'tﬂ%

II. No flat is a building / II. ®IS Fdc SHRA 8l ¢

® Only conclusion I follows / *ad ey 1 fAeadr %
® Only conclusion Il follows /W forsd 1) Freaar %
® Both conclusion | and Il foIIows/?ﬂtﬁ' frwp 1 3R 11 e %

® None of the conclusion | or Il follows / f-eFd I 9T IT & @ Eﬁ"&‘ T8I FAipedr %
Correct Answer :-0Only conclusion | follows / Fad ey I fHeadar %

34)
Question Stimulus :-

A pediatrician is monitoring the growth of 7 children - A, B, C, D, E, F and G who were all
born on the same day at approximately the same time. He has made the following
observations: / T% SR [ARUF 7 9] & fab™ $71 gdlevr +I W3- A, B, C, D, E, F 3R G &I
YT U JHT WR UH gl 3 Uar g€ A| 394 i vegur far:

e No two children have the same height.

E is taller than G while G is taller than C.E,GG,C

C is taller than B while F is taller than G.C,B F, G

D is taller than F. D, F

Which of the following must be false? / 9 & & 3@ P9 I1 g1 TfRA?
° GistalIerthanF/G,FﬁW%
] FistallerthanB/F,BﬁW%
® DistallerthanC / D,C'\q?ﬂ%ﬂ%
® AistallerthanC / A,CQ?ITEIT%

Correct Answer :-G is taller thanF / G, F & @ T §

35)

Question Stimulus :-

(15)



A call center company had to arrange transportation for its employees. They asked for
quotes from different provider agencies and the following are the options they got: / Q?ﬁ

Pl Ve HUAT I U HHATRG P forw TRagT B G HIAT YT HUAT A 3[R eRT UST TSieral 9
99 1 3R 3= Y fawer B9 -

A. This option allows having uniform rate for day and night trips. This would cost you

Rs.1000 per trip. / A. 98 fd®eu &7 3R I &1 a1 & foIe U o 311 91 3rgafa a1 g1 399 ufa e
39 HT 1000 HT T ST

B. This option has differential fare for day and night trips. Day Frips would cost 700 per tr.ip
and night trips would be charged 1200 per trip. / B. 39 fawey # f37 3R 3d &1 a1 & fHw A
3R B1 s &t amn ¥ ufa am 700 ot anra et ok @ ® ufa amr 1200 TgET S|

C. This option charges depending on the total distance covered in a trip. It charges Rs.800
per trip if trip distance is more than 50 KM and Rs.1100 if trip distance is less than 50KM. /

C. 39 faoed # T& a1 &t $d g8 & STUR WR Y[eoh forar S| 94 Ufd a1 800 FUT b g afe
g gt 50 . . I sifte gt ek 1100 Fuu faswrar ghm afe gt 50 . . 3 w7 gri

If the company has 3 days and 3 nights trips all exceeding 50 KM per day, which option
would be the best? / af¢ Ul 3 &7 3R 3 W 50 fHraniier I AT AT Fd &, O D AT T

33T fAP ey 8 gpar g2

o EitheerrBorC/AﬂTBﬂTcaﬂé‘l—ﬁ

Correct Answer :-C

36)
Question Stimulus :-
Direction: A person is asked to put in a basket one apple when ordered one, one guava

when ordered Two, one orange when ordered Three and is asked to take out from the
basket one apple and one guava both when ordered Four. The order sequence executed by

the person is as follows; / F¢¥: T fH &I TP el A TP A SoH P o€ BT ST & &d TP
ST 3T T, U 3TFe Id gORT SNSRI AT 7T, TH a1 9d ey ST fam 7 ok I9&! ta 39
&ﬁ?qgamwﬁaﬂaﬁaﬁwwmﬁmamﬂmwmm%mwaﬁ%mﬁmﬁﬂw
TPR

12332142314223314113234

How many apples will be there in the basket at the end of the above order sequence? / WX

¥ AT F ATHH o W ABd W fbad A 9 B2
. 4
e 3

(16)



e 2
e 1
Correct Answer :-2

37)
Question Stimulus :-

Farakka Barrage Project is designed for preservation and maintenance of . / THRaRPT SRS UGS
% XIVEIUT 3R T@RWIG & fo1e g+ T g1

® Kochi port/ ﬁ% WTIE'
® Tuticorin port/ ?Bﬂ?ﬁﬁ_'[ ELERIIE
* Kolkata port / BIABTAT GGG

® Mangalore port / HITAR S8

Correct Answer :-Kolkata port / CANEIGI) CIEUIE

38)
Question Stimulus :-

If cream cracker means computer programming, and its cream cracker, then it's

programming. / afe P $HR BT Haed HEEI TR 3, 3R T8 BIH HH< 8, 99 I8 Wi 3|
* True / \“I%’f
* False / TTdd
e Maybe / Eﬂw%
e Irrelevant / ST RIH
Correct Answer :-True / Jgl
39)
Question Stimulus :-

Whe%re is the Nauradhi Sanctuary located in / RTh T JIHURUG § S |
R

®* Morena /H%IT
e Rewa / 341

(17)



* Banjar / W9R

e Sagar / 9INR
Correct Answer :-Sagar / 9I'RR
40)

Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face opposite to the face shown

at the right? / e IRIT 3R W STHfa FI ¥9 B TaT A & fo wies far siran 8, @t o foeel & @
® I fawer § vaw arff ok e M waw & faudta 32

E|T|Y

oW |E

=

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-
Complete the series choosing the missing number: / AW JBT DR STAT BT TR HIOT :

2,6,12,20,30,42,
° 50
° 53
* 56

* 58
(18)



Correct Answer :-56

2)
Question Stimulus :-

In the following q_uestipn, one term in the number series is wrong. Find out the wrong
term. / 9 Uy ¥, G 9@ A TP UG TAd §| TAd US JId BIo”| 1236,2346,3456,4566,5686

® 1236
® 3456
® 4566
® 5686

Correct Answer :-5686

3)

Question Stimulus :-

A man brought apples at 10 for Rs. 25 & sold them at Rs. 25 per dozen. Find his gain or loss percent? /

TSP 3MeHY 25 TUY H 10 VT AT 3R I 25 TUY UfA TSI U= ST IHPT ATH AT BT UFA<rd &7 udr avme?

[V

%o

| e
| k2
3] b

(IS [

Correct Answer :-16 %

4)
Question Stimulus :-

If ‘"MONKEY’ is encrypted as 'XDIJMNL’, how ‘'TIGER’ will be encrypted as? / gfd "MONKEY’
$1 'XDIMNL’ & Tfhy fhar a1 8, 99 "TIGER’ &) $A APy fHar swrm?

(19)



® QDFHS

® SHFDQ

® SDFHS

® QDHIS
Correct Answer :-QDFHS
5)

Question Stimulus :-

If 'SISTER’ is encrypted as '535301’, ‘UNCLE’ is encrypted as ‘84670’ and 'BOY’ as *129’,
how will *‘SON’ be encrypted? / df¢ *‘SISTER’ &I ‘535301’ 9 Uy {41 AT &, ‘UNCLE’ B
84670’ A TAfPY far a1 §, 99 *SON’ P $4 TAfpy fvar wmam?

® 524

° 923

* 342

e 872
Correct Answer :-524
6)

Question Stimulus :-

If ‘ROAD’ is encrypted as ‘"URDG’, how ‘SWAN’ will be encrypted as? / gf¢ ‘ROAD’ &l ‘URDG’
¥ TAfhe foan 7 8, 99 'SWAN’ &1 & Tl far smm?

* VXDQ

* VZCQ

* UXDQ

* VZDQ
Correct Answer :-vZDQ
7)

Question Stimulus :-

(20)



| —

From a sack of potatoes weighing 120kg, a merchant sells lots weighing 6kg,5 kg,9
3

kg & 9 4 kg respectively. How many kg did he sell? / 120 AU YRY Mg &1 a8 A, TH
1 1 3

%uﬁa?m: tsﬁW«ﬁT,rm,saL ﬁﬁvﬁsnu,gE fratmT ok 0 4 fralumd YR ¥ R AT | S99 e
?

1 1
2 3

° 40~ kg / 40 ~ fHamma
1 1
2 2

e 30~ kg / 30 ~ foaum
1 1
B B

e 20~ kg / 20 - fHaum™
1 1

a B
e 10 “ kg / 10 -~ fHarumw

1

]

Correct Answer :-30_2 kg / 30 -~ fdaum
8)
Question Stimulus :-
The LCM of 10a2 b, 15b2c and 20c2d / 10a2 b, 15b2c 3R 20c2d HTLCM &
e 15b2 cd
* 0
e a2b%2c2 d
e 60a%2b%c2 d
Correct Answer :-60 a2 b2 c? d
9)

Question Stimulus :-

Two men are walking to a certain distance. One at 4 km/hr and another 5 km/ hr. The latter arrives half an hour before

the former. This distance |s/ﬁmwm§ﬁ$mﬂﬁﬁél Wﬁﬂ%4ﬁ5ﬁ/ﬂﬂ%3ﬁ?waﬂﬂﬁf
5 fopefi/der & gaRT i uga ard safed & Y 9 ugd agf Ugaar 81 g8l @

(21)



e 6km/ 6 fepet

e 7.5km/ 7.5 fHHt
e 10 km/ 10 fordt
e 12 km/ 12 fopet

Correct Answer :-10 km/ 10 fFH}

10)
Question Stimulus :-
Complete the series choosing the missing letter/s: / ﬁﬁ'ﬁr 3(&R TAhT HTdl Hﬁwiﬁﬁrm :

abc _ _cabc cab

® abcab

® ababc

® abacc

® abach
Correct Answer :-ababc
11)

Question Stimulus :-

The series given below contains a sequence of a.lpl.\a.bets,.numbers and symbols. Ideqtify
the incorrect combination: / 19 & T8 4&aT 3R} T TBATSM BT SHH T Bl 8| Tad Fare-
ugHI=Y|

(i) tasy8d802nir3

(ii) tasy8d802nir3
(iii) ta$y8d802nir3
(iv) tasy8d802nir3

(22)



Correct Answer :-iii

12)
Question Stimulus :-

Fresh fruit contain 62% of water and dry fruit contain 24% of water. How much dry fruit can be obtained from 100 kg of

fresh fruit?/ dT9 el A 62% UTHT TIdT @ 3R HaT # 24% UrH! gidr 21 100f6UT i B o fha=it aar
Ut &1 ST Hebdl 82

e 48kg/ 48 foFum
e 45kg/ 45 fopum
® 40kg/ 40 four
* 50kg/ 50 fpam

Correct Answer :-50 kg/ 50 f&uT

13)
Question Stimulus :-

If ‘/RAM IS A GOOD BOY’ is coded as ‘JUQ SV U RZZL KZN’, then ‘GRASS’ is coded as / ?T% ‘RAM IS A GOOD BOY’ G|

4UQ SV U RzzL KzN’ T Pifed foar STdT 8, @ ‘GRAsS’ &I B difsd frar S

e RIUVV

® UJQSS

® VVUIR

® RLKZZ
Correct Answer :-RJUVV
14)

Question Stimulus :-

Three dice are thrown simultaneously. What is the probability of getting 6 on all the three?

/ 3 U U 1Y B T §13 URI IR 6 HBIT BIH B UG T 82
* 1/36
° 1/2

* 1/216

(23)



® 1/6
Correct Answer :-1/216
15)

Question Stimulus :-

A number is decreased by 10% and then increased by 20%. By what percent should the
increased number be reduced so as to get back the original number?/ T® H31 &1 10%

T 74T 3R fhR 20% Ferar 41| ga T=T &t e F v+ & e 7t 58 e &Y fraq ufowe
ERIT STTIT?
* 8%
® 10%
* 7%
* 6%
Correct Answer :-7%
16)

Question Stimulus :-

A thief is noticed by a police man from a distance of 200 m. The thief starts running and the policeman chases him. The thief
and policeman run at the rate of 10 km/hr and 11 km / hr respectively. What is the distance between after 12 minutes?/

g aTdl 3 T TR BT 200 W 3t g8 A @ AR 7 e IR= B G iR gieraarar 3wt et s @l IR
3R gfer Rt 10 fei/der ok 11 fhfieer @t wfa A <isd €1 12 e arg 39% da &1 g3t @ g

e om/0Ht
® 5m/5'Fﬁ
e 2m/27¥
e 10m/10Ht

Correct Answer :-0m/ 0 Ht

17)
Question Stimulus :-

In how many different arrangements can 5 men and 5 women sit around a table? / T®h 9d B ﬁlﬁ 5 Bﬂa'lﬂ \’rﬁ?' 5

3Ra frat fafte il | 98 god 82

e 9l

(24)



e 10!

® 2(50)

* (59
Correct Answer :-9!
18)

Question Stimulus :-
A man travels to a place at an average speed of 50 kmph and returns at 30 kmph. What is
his average speed for the whole journey in kmph? / T 3MTGHI T I TR 50 et/ gue @t
ST ITe | 9T BT § SR 30 5/ g0e W AU diear 8] ISPt R gE Hfag feut/ave | sfiwa ara
w7 8?2

® 37

® 375

®* 36

® 36.5
Correct Answer :-37.5
19)
Question Stimulus :-

CANCELLED
A can do a work in 12 days and B in 16 days. They undertook to do it for Rs. 6000. With the help of ‘C’
they completed the work in 6 days. What is the share of B? / A T% & &I 12 =Y & o Jwar 23R B
16 a1 #1 ITA 3 M B F1 & AT 6000 FTUT T4 fFTI <C’ F T W, S84 59 HH &I 6 &1 A
1 farl B &1 e fvamn 82

® Rs.2160 / 2160 ¥UT

® Rs. 1440 / 1440 =0T

® Rs. 1240 / 1240 U4

e Rs. 750 / 750 ¥U¢
Correct Answer :-Rs. 750 / 750 4qU

20)

(25)



Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / A% 23 T3 IR vl & A 2 A T vd & Sip I9H o9 91 v 81 82

T.G. Canoe Livery
Duane TeGrotenhuis
San Marcos, Texas

(512) 353-3946

(i) T.G. Canoe Livery
Duane TeGrotenhuis
San Marcos, Texas

(512) 353-3946

(ii) T.G. Canon Livery
Duane TeGrotenhuis
San Marcos, Texas

(512) 335-3946

(iii) T.G. Canoe Livery
Duane TeGrotenhuis
San Marcos, Texas

(512) 353-3946

(iv) T.G. Canoe Livery
Duane TeGrotenhuis
San Marcos, Texas

(512) 353-3946

(26)



Correct Answer :-ii

21)
Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / GL] Gl'lq;ﬁf &l g1 & ford
AqH T WS fpant Al Y@ St sraxawar gift?

/\

\

e 13

e 12
e 16
e 10
Correct Answer :-12

22)
Question Stimulus :-

Three dice are thrown simultaneously. What is the probability of getting the same number
on all the dice? / 3 U T H1Y T T &1 3 U UR TP S T-AT B D1 THTGT T 82

® 1/36
®* 1/216

* 1/2

(27)



® 1/6
Correct Answer :-1/36

23)

Question Stimulus :-

Salim had to sell vegetables worth Rs 5750 for Rs 4500 due to heavy rainfaII.Wh.at is loss percentage that
he has incurred? / TEH &1 U TR BT To1g H 5750 TUY BT AfSrdl 4500 FUA | ST US| IHDT JHA

CARYIGRIG G

® 21.74%

® 22.74%

® 23.74%

® None ofthesel%ﬂﬁﬁﬂﬁﬁﬂ'ﬁl
Correct Answer :-21.74%

24)
Question Stimulus :-
Complete the series choosing the missing number: / AW BT DR STAT BT TR HIOT :

1000, 729,512, 216
* 343
* 347
* 345
® 340
Correct Answer :-343
25)
Question Stimulus :-
(720/6)+(39/3)-(16x5)-45/15x7="?
e 35
e 32

. 41
(28)



e 38
Correct Answer :-32
26)

Question Stimulus :-

Two numbers are in the ratio 3:2 and their sum is 30. Find the smaller of the two

numbers? / G TRI3M HT U 3:2 § 3R ST IS 30 §1 & GEnsi # A S T Jid S|

* 10

* 12

°* 16
Correct Answer :-12
27)

Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂ'ﬁ 3M&R AP dTdl | T DI :

ab _cc_bc_c_bcc_
® aaccc
® caacc
® cacac
® accac
Correct Answer :-cacac

28)

Question Stimulus :-

Complete the following sequence of figures. / W * BCET 3| T P

SO PN VTN
N I N I N I

(29)



O )G 1O

Correct Answer :-

29)
Question Stimulus :-

If SINGER is coded as RIGNES, then DANCER is coded as / df& SINGER P RIGNES & SIf&d fopar &rar €, o
DANCER P B ifgd forar SRR

® REGNIS

® DANREC
® RECNAD
® RACNED

Correct Answer :-RACNED

30)

Question Stimulus :-

When digits of a two digits numbers are reversed its value gets 9 more than the original number. If the sum of the
numbers is 7, find the number. / ST g1 3B & 3H Ihid fFT T4 §, A STHT UH TAEST A 9 §¢ T 3
afe d@I13if &1 aRT 7 §, O V=T J1d DY |

e 83
e 64

(30)



e 73
e 34
Correct Answer :-34

Topic:- Science and Simple Arithmetic

1)
Question Stimulus :-

A shopkeeper professes to sell all things at a discount of 10%, but increases the selling
price of each article by 20%. His gain on each article is: / T® gHI-qR B d¥] B 10% YW
I BT SIGT AT 8, IRg TS a5 & [y g | 20% Ft g F a1 81 TS 9% W ITDT a1 7:

* 8%
* 10%
* 12%
® 9%
Correct Answer :-8%

2)
Question Stimulus :-

Jaadugar Choo-Mantar is in the business of buying and selling magic wands for kids. He purchases magic wands at Rs. 15 per
unit and sell them at Rs. 20 per unit. At the beginning of every month he counts the stock available (opening stock), and
then purchases new stock (purchases) to meet his sales for the whole year. The stock remaining at the end of every year
(closing stock) is carried over to the next year for sales and so on. Following table shows his opening stock, purchases, sales

and closing stock (all in numbers of units) for a period of four years. Some cells have been left blank intentionally. / “SITgiIR
F-UaR’ = & AT o1g @t TSl WA R 9T F FRIGR & 198 ol I Dol 15 ©UT ufd 3H1E R
@iladl ¢ 3 3% 20 FUT Ufd SH1E WX S°dl §1 8¥ WelA & o3I H, 98 fawpl & R Suarey wrar (mfres
arer) fear 8, Sk e ¥ ad & faspl off +q & fore =ar ure wdiear 81 98 a8 a¥ & oid & wa gam |rd
(TS =T 3T HI) AT I S & o€ 7@ a1 © 3R = gaal vedl g1 9 aifereT IR ad &1 saf &1
ST RIS TTd, Wile, fawl iR T=m gom ara (I sl 31 Jen ) Rt 31 oo @i &t
SMgHR Wil B faar mar 31

(31)



Particulars/ I 2002 2003 2004 2005

Opening Stock!
HETHE HT 1500

Purchases! @i= 4200 4700 5500

Available for Sales!
T & @7 ITcreeT

HTel 5700 5600 6300

Sales/ Tashr 4800 5200 4600

Closing Stock! #radr
ToT T AT a00

What was the total amount of sales made (in Rs.) during the years 2001 to 2005? / 9¥ 2001 ¥ 2005 & EﬁTF[ fawt &t
Fa AR (I H) Fa1 A2

® Rs. 382000
® Rs. 394000
® Rs. 401000
® Rs. 405000

Correct Answer :-Rs. 382000

3)
Question Stimulus :-

If perimeter of a square is 256 m, find the length of each side of this square. / gfe Uh It T UiRHTT 256
Hlex g, a1 39 91 &t TS Yol 3t aIETS J1d DI

* 16m /16 HeX
e 12m/12HI®
e 64 m /64 HieX
* 32m/32Hw

Correct Answer :-64 m / 64 Hie&X

4)
(32)



Question Stimulus :-

The bulb of the thermometer contains / szcﬁz? FIEH Wﬁ'ﬂ' @T‘IT %’
® Alcohol / Qﬁﬁﬁﬂ'
® Water / SIdl
® Mercury / URT
® Acid / 3T
Correct Answer :-Mercury / URT
5)

Question Stimulus :-

Which of the following is a chemical preservative? / fad g P U IS URR &S %?
® Sodium metabisuphite / TTSTH AeTAZABISE
® Sodium glutamate / |ifsaw W
® Mono sodium glutamate / - afsaa "?E'I'ﬂ?
® Calcium benzoate / iy aﬁﬁ'ﬂf
Correct Answer :-Sodium metabisuphite / TfSTH AeTATSTHTSE
6)

Question Stimulus :-

The balance of Oxygen and Carbon dioxide in nature is controlled by / 'qu?ﬁl H SffwRite o Pra+ ager‘famgg
¥ Tgad P! 39 gRT Frafa foran rar @

® Human beings / HJ®
® Green plants / @ e

* Microbes / &SI
® Modern technology / GITE[ﬁTIF GEEIED

Correct Answer :-Green plants / U

7)

(33)



Question Stimulus :-

Jaadugar Choo-Mantar is in the business of buying and selling magic wands for kids. He purchases magic wands at Rs. 15 per
unit and sell them at Rs. 20 per unit. At the beginning of every month he counts the stock available (opening stock), and
then purchases new stock (purchases) to meet his sales for the whole year. The stock remaining at the end of every year
(closing stock) is carried over to the next year for sales and so on. Following table shows his opening stock, purchases, sales

and closing stock (all in numbers of units) for a period of four years. Some cells have been left blank intentionally. / “SITGIIR
F-TaR’ Tl & AT Sig 1 D1 WiieA 3R d°4 & PRIGR § 8198 | T Dol 15 FUT Ufd IH1E W
Tiear @ 3R S 20 TUT Ul IH1E W J°ar 21 8 7 S Yo H, 98 bt F e Suaey 71 (SR
A1er) e 2, ok e ¥ af &) fsh) oft $3 & fore = Airer @diear @1 98 &< a¥ & oid # o= g |l
(ST FaT g HIeT) AT AT su & g Ta &1 § 3R W awran vedn o1 g arfereT o af &t safy &1
ST IRAUF A1d, Wile, 9wt iR T=m gam wra (I sosal 31 e ¥) it 31 v @l &t
SHFgIHR Wt Bt f&ar T g1

Particulars/ I 2002 2003 2004 2005

Opening Stock!
HEHE AT 1500

Purchases! @iz 4200 4700 5500

Available for Sales/
T % &7 ITcresr

HTel 5700 5600 5300

Sales/ Tasr 4800 5200 4600

Closing Stock! amiadr
o7 T AT 900

What was the total amount spent on purchases during the years 2001 to 2005? / 99 2005 ¥ 2001 & a?'F'l' Wi R
Fa fadt AR @d BT T A2

® Rs. 285000
® Rs. 291000
® Rs. 304000
® Rs. 312000

Correct Answer :-Rs. 291000

8)

Question Stimulus :-

(34)



Jaadugar Choo-Mantar is in the business of buying and selling magic wands for kids. He purchases magic wands at Rs. 15 per
unit and sell them at Rs. 20 per unit. At the beginning of every month he counts the stock available (opening stock), and
then purchases new stock (purchases) to meet his sales for the whole year. The stock remaining at the end of every year
(closing stock) is carried over to the next year for sales and so on. Following table shows his opening stock, purchases, sales

and closing stock (all in numbers of units) for a period of four years. Some cells have been left blank intentionally. / “SIIGIIR
F-UR’ Tl & T Sig 1 D1 WeA iR 31 & $RIGR § 8138 Wi T DSl 15 FUT Ufd 3H1E W
WGl ¢ 3R 3= 20 FUTC Ufd SH1E W 9=dl 21 8 A & Y3 #, 98 fowpl & R Suerey wrar (Mt
A1er) frerar 2, iR R ¥ o Y Rt & #3A & e a1 Arer wdiear 8198 &% 9 & o A 5= gan A
(ST =T 3T HIST) SATS T sa & U Wa a1 @ SR = gadan ¥edl g1 9 aiferet ar oy &1 3afy &1
IIPT IRMUP A1d, Wile, Al iR = gom wra (I sosal 31 wen ) Rt 31 v @l &t

SHggIHR Wil B faar T 71
Particulars/ s3I 2002 2003 2004 2005
Opening Stock!
HETHF AT 1500
Purchases! @fe 4200 4700 5500
Available for Sales!
TR o ToIT ITcTey
HTel 5700 5600 6300
Sales/ Tasr 4800 5200 4600
Closing Stock/! armair
qoT T AT 900

What were the average sales from the year 2002 to 2005? 99§ 2002 ¥ 2005 dF ofd faw! =T A2

® 4600 units/year / 4600 SHTS/TY
® 4650 units/year / 4650 SPTs /dY

® 4700 units/year / 4700 SPTS /Y

e 4750 units/year / 4750 SHIS/d4

Correct Answer :-4750 units/year / 4750 Wl'sf/a'ﬁf

9)

Question Stimulus :-

The small openings at the back of the leaves through which plants breathe are known as / tIﬁl’*ﬁﬂ %5 Tﬂ@' @ﬁ% [:1K3

for e W 9w < 3, Poard ©

(35)



® Lamina / Ucd

* midrib / fie e

* Stomata/ TEHTET

* Veins / RRT
Correct Answer :-Stomata / TIHTEl
10)

Question Stimulus :-

A book shelf has magazines which have either 48 or 52 pages. If so which one of the following numbers
cannot be the total number of pages of all the magazines on the bookshelf? / TP Yxdh B
H Hielg ufsten ® ar at 48 a1 fikw 52 yy 1 Fufafas o @ o= Ot v g Fue § digg af
uBFTel B Fd gEI BT WWAT TEL g1 AHl?

* 500

* 524

* 568

* 588
Correct Answer :-524
11)
Question Stimulus :-

T r—2=
If one root of the quadratic equation & +x—d=0 is 1, then find the other root. /

afe fyar wftezor * TF2=0 @1 TF Ud 1 8, 99 gav1 Ja e

Correct Answer :--2

12)

(36)



Question Stimulus :-

The fragments of the crust of Earth which due to their constant motion collide
with one another causing earthquakes to occur are called / yuudt & Es i U=
e 0 & PRI TH G T THAB YU $i Uied HYd @ Hadd &

® flat zones / i ded
® fault zones / YT Hed

® plateaus / USIR

® tectonic plates / faadfe we

Correct Answer :-fault zones / YR H8d

13)

Question Stimulus :-

Jaadugar Choo-Mantar is in the business of buying and selling magic wands for kids. He purchases magic wands at Rs. 15 per
unit and sell them at Rs. 20 per unit. At the beginning of every month he counts the stock available (opening stock), and
then purchases new stock (purchases) to meet his sales for the whole year. The stock remaining at the end of every year
(closing stock) is carried over to the next year for sales and so on. Following table shows his opening stock, purchases, sales

and closing stock (all in numbers of units) for a period of four years. Some cells have been left blank intentionally. / “SITGIIR
F-TaR’ Tl & T Sig &) D1 WeA iR 31 & $RIGR H 2198 Wig 31 Dol 15 TUT ufa Ih1s W
WSl & 3R 3= 20 FUTC Ufd SHTE WX 9=al 21 8% 7 & e |, a8 el & R Suersy 71ar (3mfires
Arer) frrar ], iR e ¥ af 3 ) ot o< & e =1an \rer wdiedr 2198 &% 99 & ofd § = gam |
(3T =T g3 HIT) AT AT S° & e wa a1 § 3R W Iwran vedn 81 g afereT wR o &1 safyy &1
IIFT IRUP Ae, Wile, [l iR T gam e (I gl &1 e ) R 81 oo @l &t

IHEIHR Tkl B foar mar 7
Particulars! &Y 2002 2003 2004 2005
{Opening Stock/
HRTHF AT 1500
Purchases! @i 4200 4700 5500
Available for Sales!
T®r & 9T 3T
ATl 5700 5600 6300
Sales/ Tawhr 4800 5200 4600
Closing Stock! aradr
qoT T AT gao

(37)



What was the closing stock at the end of year 2004? / a¥ 2004 & 3id # T=T BT HIST HIT YT?

® 900 units / 900 TS

® 1300 units /1300 3HTS

® 1500 units / 1500 SPTS

® 1900 units / 1900 SHTS
Correct Answer :-1300 units /1300 S®T5
14)

Question Stimulus :-

Those which feed upon the dead plant and animal tissues and convert them into a dark coloured substance called

humus /9 S g g0Ta 3R STHERT & Sl T U Hd g 3R 37 TeR 31 & Uerd gouw ¥ agad
® Earthworms / HgU
® Detrivores / S¢IAIX
® Virus / fauTo
® Microbes and fungi / J&SIT 3R Ha®
Correct Answer :-Microbes and fungi / & Sd 3NX Hac
15)
Question Stimulus :-

Find a solution for the pair of linear equations x +y=3 and 2x—-y=0. / x+y=33'ﬁ? 2x—y=0wwma?

g & foe & 5o farferd |

® x=2;y=1
® x=1;y=2
® x=3;y=0
® x=2;y=4
Correct Answer :-x=1;y=2

16)

Question Stimulus :-

(38)



Human ear can hear sounds of frequencies / HT-d PI Gﬂq%l' P @ g g&d &
® Below 20 Hz / 20 Hz 9 I
® Between 20 Hz to 20000 Hz / 20 Hz & 20000 Hz & W
* Between 60 Hz to 13000 Hz / 60 Hz & 13000 Hz & T
® Above 20000Hz / 20000Hz ¥ U
Correct Answer :-Between 20 Hz to 20000 Hz / 20 Hz ¥ 20000 Hz & H
17)

Question Stimulus :-

In the given figure, AABC is circumscribed. The circle touches the sides AB, BC and CA at
P, Q, and R respectively. If AP = 5 cm BP = 7 cm and AC = 14 cm, find BC. / & T aofa #,
TS gd AABC & §RI UR¥a f&ar a1 31 ga Yeisif AB, BC 3fR CA &I HHRI: P, Q, 3R R WX =l &=ar gl
gfe AP = 5 9Hl. BP = 7 ¥l 3R AC = 14 3. 8 9@ BC 3@ |

L 14cm/14@Tﬁ.
® 12cm/ 12 THL.
® 15cm /15 IHl,
® 16cm /16 9HI.

Correct Answer :-16 cm / 16 9,

18)
Question Stimulus :-

The organelles which are absent in animal cell but present in plant cells are / a BRSBTS g CAIRIC K]
U 7 § Wy It HIfw13i § IufRya Igd § Hgard ¢

® Chromosomes and chloroplast / J[UIJA 3R givaaas

® Plastids and plasma membrane / dPh AR Srageg ol
(39)



® Nucleus and cell membrane /W 3R BIfRADT %'lﬁ
® Plastids and cell wall / ddP 3R BT fU=h

Correct Answer :-Plastids and cell wall / Td®H 3R BT fiRh

19)

Question Stimulus :-

Jaadugar Choo-Mantar is in the business of buying and selling magic wands for kids. He purchases magic wands at Rs. 15 per
unit and sell them at Rs. 20 per unit. At the beginning of every month he counts the stock available (opening stock), and
then purchases new stock (purchases) to meet his sales for the whole year. The stock remaining at the end of every year
(closing stock) is carried over to the next year for sales and so on. Following table shows his opening stock, purchases, sales

and closing stock (all in numbers of units) for a period of four years. Some cells have been left blank intentionally. / “SIIGIIRY
F-UR’ =l & g org o 531 WleA 3R 399 & FRIGR ¥ 3198 Wig 3t TSI 15 FUT Ufd 3PS W
WS € 3R 3% 20 FUT Ul SP1S W ST 81 8 {4 & Yard ¥, a8 fawhl & fore Suesy wrar (3mfie
Arer) frrar 8, o e ¥ af &Y faeh) Gt v & e =1 Arer Tdied &1 98 8% 994 & 3id § = g |id
(3RS =T g3 HIA) 3ATA T S & 1T g a1 © 3R = gaial Yedl g1 Y aifereT ar ay &1 3rafd &1
IET RUF A1e, TWile, Al iR = gom e (I sosal 391 W ) Rt 31 oo @l &t
SIFgIP: TTel Bis f&ar T 71

Particulars/ s31Y 2002 2003 2004 2005

Opening Stock!
HEHT AT 1500

Purchases/ &= 4200 4700 5500

Available for Sales!
T & ST ITere

HTel 5700 5600 6300

Sales / Tawr 4800 5200 4600

Closing Stock! arrardr
o7 AT AT 900

What were the sales in the year 2005? / ay¥ 2005 # fawt @ A2
® 4100 units / 4100 3HTS
® 4300 units / 4300 SHTS
* 4500 units / 4500 315
® 4700 units / 4700 SHTS

(40)



Correct Answer :-4500 units / 4500 sih‘li

20)

Question Stimulus :-

Dentists use concave mirror to see / °d ffece eraaa Z;'TfUT BT TR qe aﬁﬁ & ﬁl"l{' A %
® (lear image of the teeth / aidl @1 Wy ufafae
® Correct image of the teeth / aidl &1 =it wfafes
® Enlarged image of the teeth / gidl @I ﬁﬁﬂ' PIGIEE
® Erect image of the teeth / gidl &1 -2 ufafas
Correct Answer :-Enlarged image of the teeth / Gidl ®T ﬁ'\ﬁﬁ IGICE]
21)
Question Stimulus :-

CANCELLED

Which one of the following food chain can exist in nature? / A9 & & 19 W YivH
T BT Upid H &I &

* Grass - insects - frog / ¥ > ®Ic - Hed

e Insects - frog - snake / ¢ > Hed — iU

* Frog - snake - eagle / #e® - U > TFg

e Worms — sparrow — cat / i - Tar - e
Correct Answer :-Grass - insects - frog / 9 - $Ic > AP
22)

Question Stimulus :-

When electrodes are dipped in ordinary water contained in a vessel and electric current is passed, oxygen bubbles are

formed on / 519 fpelt o<1 ¥ v@ ATHTY U & gdacls & GAIAT ST § S fagad T warfad &1 it
2, a9 SiTRite & gagad fFd W) a9d &

® the electrode connected to the positive terminal of the battery / a’gﬁ & YFT® R A \_{1@" Y Eaaﬂ?{ W
® the electrode connected to the negative terminal of the battery / aﬁ & BUTHSD R F ﬂé’ 8¢ 3@3@3 R

® the walls of the vessel / 90 &1 SIAR W

(41)



® the bottom of the vessel /E?f:[ Hdd W

Correct Answer :-the electrode connected to the positive terminal of the battery / afl F YATHS R A

gs gU suwIs W

23)
Question Stimulus :-

Identify the pollutant responsible for damaging the ozone layer in the atmosphere. / AIJHUSH T 3ol W &I

BT uge & forg fiieR ugue &1 ugare
® Methane / A3
e CFC /Hiumwt
* CNG /3tesil
* Nitrogen dioxide / TSI STSSHTRITZS
Correct Answer :-CFC / SITHH!

24)
Question Stimulus :-

Find the area of a quadrant of a circle whose radius is 14 cm. / 39 qdd & ilﬂQIfQT BT A FTd Pifore ot
e 14 990 B

o 77cm?/ 779t 2
e 154cm?/ 154 GH 2
e 49cm?/49THY 2
e 539cm?/539 A 2
Correct Answer :-154 cm?/ 154 3Ht 2

25)
Question Stimulus :-

Suppose x varies inversely as square of y and V\(hen y =3, then x = 4. Finc! x, wheny =6/
A AR X, y P F I AT FTT A TCa e Td Sy = 3, A x=4,x TAPI Gy = 6 gl

® 36
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* 1
Correct Answer :-1
26)
Question Stimulus :-

In AABC, if LA = 40° and LB = 60°, which side of the triangle is the smallest? / AABC ¥, afg
LA = 40° 3R LB = 60°, a YW &1 &9 W Yol G4 ST gRit?

* AB
® AC
® BC
e CA
Correct Answer :-BC
27)

Question Stimulus :-

The letters of english alphabet that do not get laterally inverted are / 3Tit guiATer & 3 &R S Ulﬁiiﬁ
et = g, €

* A,H,P,M
eI,B,C, O
e U,V,W, X
e N,L,T,R
Correct Answer :-U,V, W, X

28)
Question Stimulus :-

The breathing process involves / 41 uferar & Savtd %
® Inhalation / 3{d:Xa9+

® Exhalation / f:Xa99
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® Release of energy / Soit &1 fam==
* Both inhalation and exhalation / 3T:49< T4 f: 4/ gl
Correct Answer :-Both inhalation and exhalation / 3(T:4¥ Ta 404 g1
29)
Question Stimulus :-
CANCELLED

cot 45 =

® sin® +45° + cos? 45°

® tan 90°

® cosec?45°+1

® 2 tan 45°/ cos® 45°
Correct Answer :-sin® + 45° + cos? 45°
30)

Question Stimulus :-

Which of the following set of substances contain base? / g Wﬂf FPHPAAACH HRD Tﬁﬁ:c{ 'Eﬁ_vIT %?
® Grapes, vinegar / 311]3', R®r
® Soap, milk of magnesia / HIq-, AT 1 [+
* Vinegar, soap / R, GIEGH
® Curd, milk of magnesia / Eﬁ, AR 31 oY

Correct Answer :-Soap, milk of magnesia / HTgH, AWM B1 oY
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